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PROBLEM:
Assume that x(t) isthe periodic function given by

o0 o0

X(t) = Z §(t — 50K) = Z %eiwokt.

k=—o00 k=—00

(a) Determine the value of the fundamental frequency wo.
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(b) Supposethat x(t) istheinput to an LTI system with the frequency response illustrated below.
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Give an equation for the output of the system, y(t), that is vaid for —oco < t < oo. Your answer
should be expressed in terms of only real quantities. (Hint: Plot the spectrum of x(t) on the plot of
the frequency response.)

yt) =
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Assume that z(t) is the periodic function given by

t) = 6(t — 50k) = —_egfwokt,
x(t) k:z_m (t — 50k) k;mme
(a) Determine the value of the fundamental frequency wy.
x(t)
_ Am/_ = 2w,
w= A = A 1344 f t 1,
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Periocl = 50 sec,

(b) Suppose that z(t) is the input to an LTI system with the frequency response illustrated below.
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Give an equation for the output of the system, y(¢), that is valid for —co < ¢ < co. Your
answer should be expressed in terms of only real quantities. (Hint: Plot the spectrum of z(t)

on the plot of the frequency response.)
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